CITY OF NEW BEDFORD

APPLICATION FOR LAYING DRAIN

Application Nº 19416	Board of Health Permit No.	
	New Bedford, Mass, May 8, 1972	
To the Mayor and City Council: I hereby request that a drain be laid to	from the premises of Entone Umaral	
	70's of Hannover St	
to connect with the sewer in	Morton and street, surface repaired as directed by the Commissioner of Public	
I hereby agree to pay at the office of the manner specified, in excess of the dep the work.	the City Treasurer all cost of performing the above work in posit made herewith, within 10 days after the completion of	
payment of the cost of performing the webe returned to me by the City Treasurer.	deposit made with this application shall be applied to the ork done, and that any excess of deposit over the cost shall	
Witness L. Bryant	antone & amarace	
	Property owner 9.3 Jarry Address	
	/Address	
	*	
for roof water	Address	
Consent of	Owner of Private Drain	
To the Many and City Council.	New Bedford, Mass.,	
To the Mayor and City Council:		
	connecting with sewer in	
through the private drain owned by the c	street.	
	Owner	
Estimate o	and Deposit Requirement	
Office of	f Commissioner of Public Works,	
My estimate of the cost of laying the	drain described in the above application is	
Assessed Entrance charges	Total deposit required 268.00	
	Total deposit required 268.00 Les A Brightman 2B. Commissioner of Public Works	
Ce	ertificate of Issue	
	Office of City Clerk,	
The above application, accompanied	by City Treasurer's receipt presented this day; whereupon	
	issued, and the Commissioner of Public Works notified of the	
same.	Eller M. Jaughan 4B. City Clerk	
	City Clerk	
Laid from main in street to iron pipe in property. Owner agrees to supply all necessary		



	-	
0	1	1
-	10	~
200		

NOTICE TO COMMISSIONER OF PUBLIC WORKS
Length of drain 38' Dilled 7/3/72 (50)
Sewer depth
Surf. drain
Drain Permit Nº 19416 City of New Bedford,
Office of City Clerk, May 8 1972
To Commissioner of Public Works. Permission has this day been issued to (Internal Amara) 93 arry St.
Property owner By Address Address
to lay drain from the premises of Extory Ameral
to connect with the sewer in Morton ave street.
Owner agrees to supply all necessary City Clerk.
by Mondon the premises of lating and analysis to lay drain from the premises of lating and analysis to connect with the sewer in Monton and street. Laid from main in street to iron pipe in property. Owner agrees to supply all necessary City Clerk.

Requires separate entrance for sewage and roof water

RETURN OF FOREMAN

RETURN OF FOREMAN			
Entered May 30	1972		
Time 4. P. M.			
By Joselm Java	20_0		
COST			
Labor hours @	1		
Jesse Terron 8 " 3.75	\$30.00		
Joseph Al Conso 8" 3.32	26.56		
Norbest St. Pierro 8" 3.20	25.64		
Wm. Corriero 8" 3.10	24.72		
TON Burt 8" 3.43	27.47		
Joseph Macolo 8" 3.60	28.84		
"	\$163.23		
Stock	98		
/s (odg (oment @1.95-	-97		
100/65 San de. 12 cwt-	.12		
1313 Base B. T. Road	16		
@2.85 +51	42 05		
m 1:			
ordson (185 at 5.55			
1 1 35 - 3 - 11 NO 1 6 6 . 55	19.65		
Trk. 67-1-HR	3.00		
Comp 59 - 1 - HR @3.35	3.35		
Total Cost	2.32.38		
Estimate-cost of laying drain	1		
Entrance charges ASSESSED Total deposit			
Balance due	20168		
(Volume a)	1=211.		
Pieces pipe to curb 2/-10/1	1-2-1		
" curb to house 3) [-10 f]	1-10/7-1-2/		
Cut at sewer 7 3 4	0.		
Cut at ourh 7 1tc			
Size of pipe 4" & 6" Transite 35 ft.			
Correct	V		
102 a) Y 200			
Sold W Jornes Foreman			